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ngon phu hop va
hi€¢u qua

II1. N§i dung cau héi thi

PHAN TRAC NGHIEM (3 marks)
SECTION 1 (1.5 marks — 10 sentences)

Identify each of the following sentences as analytic, synthetic, or contradictory. (0.15
each)

The immortal wizard died when he sipped the poison. This is a(n) .
A. contradictory sentence

B. synthetic sentence

C. analytic sentence

ANSWER: A

Some vertebrate animals do not have back bone. This is a(n) .

A. contradictory sentence

B. synthetic sentence

C. analytic sentence

ANSWER: A

Blue whale is the largest sea mammal. This is a(n) .

A. synthetic sentence

B. contradictory sentence

C. analytic sentence

ANSWER: A

The price ceiling in a country’s stock market is set by its government. This is a(n) .
A. synthetic sentence

B. contradictory sentence

C. analytic sentence

ANSWER: A
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There is absolutely no rain in a semi-arid area. This is a(n) .

A. contradictory sentence

B. synthetic sentence

C. analytic sentence

ANSWER: A

An only child does not have any sibling. This is a(n) .

A. analytic sentence

B. synthetic sentence

C. contradictory sentence

ANSWER: A

An only child usually struggles with independence and sharing. This is a(n) .
A. synthetic sentence

B. analytic sentence

C. contradictory sentence

ANSWER: A

Hotels can charge guests a small fee on complimentary drinks. This is a(n) .
A. contradictory sentence

B. synthetic sentence

C. analytic sentence

ANSWER: A

2001 marked the darkest time of the US in the 20™ century. This is a(n) .
A. contradictory sentence

B. analytic sentence

C. synthetic sentence

ANSWER: A

An animal dies when its life ends. This is a(n) .

A. analytic sentence
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B. contradictory sentence
C. synthetic sentence

ANSWER: A

SECTION 2 (1.5 marks; 10 utterances)

"I would not buy it if I were you."
A. Directive

B. Declarative

C. Expressive

D. Representative

E. Rogative

F. Commissive
ANSWER: A

"Shall I clear this dish for you ma'am?"
A. Commissive

B. Directive

C. Expressive

D. Representative

E. Rogative

F. Declarative
ANSWER: A

"You melt my heart."
A. Expressive

B. Directive

C. Commissive

D. Representative

E. Rogative
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F. Declarative

ANSWER: A

"How much does this cost?”
A. Rogative

B. Directive

C. Commissive

D. Representative

E. Expressive

F. Declarative

ANSWER: A

"The researcher recruited 120 males and 125 females for her research survey.”

A. Representative
B. Directive

C. Commissive
D. Declarative

E. Expressive

F. Rogative
ANSWER: A
“Can everyone settle down so that we can start?”
A. Directive

B. Declarative

C. Commissive
D. Representative
E. Expressive

F. Rogative
ANSWER: A

"I now pronounce you man and wife.”
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A. Declarative
B. Directive
C. Commissive
D. Representative
E. Expressive
F. Rogative
ANSWER: A
"Cats and dogs were the first domesticated animals.”
A. Representative
B. Directive
C. Commissive
D. Declarative
E. Expressive
F. Rogative
ANSWER: A
"I will never let you down.”
A. Commissive
B. Declarative
C. Directive
D. Representative
E. Expressive
F. Rogative
ANSWER: A
“Your creativity never ceases to amaze me.”
A. Expressive
B. Directive

C. Commissive
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D. Representative
E. Declarative
F. Rogative

ANSWER: A

PHAN TU LUAN (7 diém)
SECTION 1 (1.5 marks)
What is implied in the following utterances? (1.5 marks — 0.3 each)
Question 1: A: “Can you finish the report today?”
B: “I don’t have the superpower, sir.”
What may B’s response implicate?
Question 2: A: “Did you buy eggs and milk as I texted you?”
B: “I even bought the sandwich and lettuce.”
What may B’s response implicate?
Question 3: A: “Who is the employee of the month?”
B: “No one can outperform Nancy.”
What may B’s response implicate?
Question 4: A: “Shall we eat out and go shopping tonight?”
B: “It’s not pay-day yet.”
What may B’s response implicate?
Question 5: A: “The music in this party is great, isn’t it?”
B: “I am here for the drinks.”
What may B’s response implicate?

SECTION 2 (1.5 marks)

BM-003

Complete each of the following sentences in such a way that is an ENTAILMENT of
the sentence printed before (— is used to show one-way entailment and < to show

two-way entailment). (1.5 marks — 0.3 each)

Question 1: She is making her grandsons some orange juice.
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Question 2: When cleaning the bedroom, she discovered an emerald.

— She - - S

Question 3: Ted is the tallest student in the class.

DEES | \[o Y ——— -

Question 4: The shoes are under the table.

<> The table —-----—mmm -

Question 5: Yule took the message from Will.

— Wil - -

SECTION 3 (1.5 marks)

Identify the PRESUPPOSITION(s) in each of the following utterances. (1.5 marks, 0.3
each)

Cau 1 (0.3 diém): “Tim wishes he could join the party.”

Cau 2 (0.3 diém): “I’ll pay you back as soon as I can.”

Cau 3 (0.3 diém): “Who is Chris going to marry?”

Cau 4 (0.3 diém): “You’d better take off the shoes before entering.”
Cau 5 (0.3 diém): “I want another drink.”

SECTION 4: Interpret the meanings of the following sentences and state what
kind of figure of speech was used in each of them. (2.5 marks; 0.5 each)

1. Wall Street is getting excited about Chinese stocks.

2. The crimson sun is sinking, and dying.

3. He’s not very tall.

4. The relationship should end here because I see no wind in our sail.

5. There are 100 heads in his cattle farm.

PAP AN PHAN TU LUAN VA THANG PIEM

Phén ciu h6i | Néi dung dap 4n Thang diém | Ghicha
I. Tric nghiém 3.0
SECTION 1 Answer A 1.5 0.15 each
SECTION 2 Answer A 1.5 0.15 each
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II. Ty ludn 7.0
SECTION 1 D 1.5 0.3 each
mhe d Dap an cau 1: B implicates that he
in the following can’t finish the report as required.
utterances? DPap 4n cau 2: B may imply that
he/she already bought eggs and
milk.
Dép an cau 3: B may implicate that
Nany is the employee of the
month.
Dép an cau 4: B may implicate that
he/ she rejects the idea.
Dép an cau 5: B may implicate that
he/she is not interested in the
music.
SECTION 2 o . . 1.5 0.3 each
Complete each Dép an cau 1: — She is making
of the following her granchildren some fruit juice.
sentences in such | pap 4n cau 2: — She discovered
a Wa}{ that 1sfar}11 a gemstone when cleaning a room
entariment N the in the house.
sentence printed
before (— is bap an cau 3: <> No one/ No
used to show student in the class is as tall as Ted.
one-way _
entailment and Dép an cau 4: < The table is above
< to show two- | the shoes.
way entailment). | g0 4n can 5. o5 Will left Yule the
message.
SECTION 3: 1.5 0.3 each
Identify the Dap an Cau 1: The utterance
presupposition(s) presupposes that Tim cannot join
in each of the the party.
following Dap an Cau 2: The utterance
utterances.

presupposes the speaker borrows
the hearer some money.

Dap an Cau 3: The utterance
presupposes that the hearer knows
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who Chris is, and Chris is going to
get married.

bép an Cau 4: The utterance
presupposes that the hearer is
wearing shoes, and he/she is
outside the building/ the place.

Dap an Cau 5: The utterance
presupposes that the speaker has

already had a drink.
SECTION 4. bap an cau 1: Metonymy: 2.5 0.5 each
Interpret the Wall Street refers to the U.S. Viét dung
meanings of the | security/ stock investors. bién phép tu
following Dap an cau 2: P.ers‘oniﬁcation tr: 0.2d
sentences and The sun can’t die like a person. Giai thich
state what kind Here it is given a characteristic of nghia ciia

human being. ~ .
of figure of Dén 4n cau 3 Li « cau: 0.3d

ap an cau 3: Litotes. “not very

§peech was used tall” is a polite way to say “short”.
in each of them Dép an cau 4: Metaphor.

“our sail” is a metaphor for the

relationship. “wind” is the passion,

the reason, or motivation that keeps

the relationship going on. “No

wind in our sail” means there’s no

reason or passion for the love.

Dép an cau 5: Synecdoche. “heads”

refer to the animal/ cattle.

Pi¢m tong 10.0

Trwéng bo moén

TP. Ho Chi Minh, ngay 17 thang 11 nam 2024

Gidng vién ra deé

TS. Nguyén Hoa Mai Phuong
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